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SARDAR BATEL UNIVERSITY

WEDNESDAY, 28/11/2018
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OCTOBER - NOVEMBER : 2018 EXAMINATION, B.COM. SEMESTER : nj

TOTAL MARKS : 60

Define entrance exam? Why entrance exam necessary? Expiain any one of the entrance [15]

exam in detail?

. Write short note {any two)

(a) Types of reasoning

(b) Importance of aptitude

{c) Public exam

(d) Difference between reasoning ability and general knowledge
Each question is compulsory & carry one mark,
From the following Find out the correct speliing.

(A} Accomplish (B) Acomplush
(C}  Ackmplesh (D) Accompalish
A person of good understanding knowledge and feascning power
(A)  Expert (B) intellectual
(C) Snob (D) Literate
PORK:PIG '
(A)  rooster:chicken (B) muttor:sheep
(C)  steerbest (D} lobster:crustacean
AFTER:BEFORE
{A) firstsecond (B) present:pa'st
- {C) contemporary:historic '(5)] successor:predecessor
DISTANCE:MILE
(A)  liguid:litre : (B)  bushel:cormn
(C)  weightscale (D} fame:television
Which word does NOT belong with the others?
(A)  Heading (B) Body
(C) Letter , (D)  Closing
Look at this series: 31,28, 24, 22, 17, ... What number should come next?
Ay 15 B) 14
{C) 13 (D) 12
9113313153317
(A) 1933 (B) 3335
(C) 3319 (D} 1533
From following numbers which number suitable for R*B-$ ?
(A) 18 (B) 17
c 7 (D) 81
QAR, RAS, SAT, TAU, —
(A)  UAvV (B) UAT
{C) TAS (D) TAT

®
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A, B, C, D and E are sitting on a bench. A is sitting next o B, C is sitting nextto D, D is not'
sitting with E who is on the left end of the bench. C is on the second position from the right. A
is to the right of B and E. A and C are sitting together. In which position A s sitting ? ‘

{A) BetweenBandD (B) BetweenBandC

(C} BetweenEandD ‘ (D) BetweenCandE

In a certain code 'MISSIONS' is written as 'MSISNOS'. How is 'ONLINE' written in that code?
{AY  OLNNIE. (B) ONILEN

(C)  NOILEN {D) LNOENI

In ceitain code 'HILTON' is written as I H T L N O'. How is 'BILLION' written in that code?

(A}  IBLLION (B) IBOILLN

(C) IBLLOIN (D) {BLOILN

Introducing a boy, a girl said, "He is the son of the daughter of the father of my uncle.” How is
the boy related to the girl?

{A)  Brother {B) Nephew

{C}) Uncle ' (D) Son-in-law

Teo end in smoke

(A)  To make completely understand (B) To ruin oneself

(C)  To excite great applause (D) To overcome someone

Each question is compulsory & carry one mark.

Instruction for Question No. 1 to 5 : Study the following line graph and answer the questions.
Exports from Three Companies Over the Years (in Rs. crore)
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For which of the following pairs of years the total exports from the three Companies together
are equal?

(AY 1995 and 1998 (B) 1996 and 1998

(C) 1997 and 1998 7 (D) 1985 and 1996

Average annual exports during the given period for Company Y is approximately what
percent of the average annual exports for Company 7

(A) 87.12% (B) 89.64%

€ 91.21% (D) 93.33% .

in which year was the difference between the exports from Companies X and Y the
minimum?

(AY 1994 {BY 1995

(DY 1997

©

~g~=Company £
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What was the difference between the average exports of the three Companies in 1993 and
the average exports in 19987

(A)  Rs. 15.33 crores (B) Rs. 18.67 crores
(C} Rs. 20 crores (D) Rs. 22,17 crores

In how many of the given years, were the exports from Company Z more than the average
annual exports over the given years? '

Ay 2 B 3
€y 4 _ D) 5
Instruction for Question No. 6 to 10 : ‘
Study the following table and answer the questions,

The following table gives the sales of batteries manufactured by a company over the years,

Number of Different Types of Batteries Soid by a Company Over the Years (Numbers
in Thousands)

N B Types of Batteries %_

Year T 7
4AH | 7AH 32AH 35AH 55AH Total
1992 75 s | 114 102 108 543
1993 0 | 12 102 84 126 528
1804 98 114 75 105 135 525
1995 105 90 150 | 90 75 510
1996 90 75 135 75 % | 465
gee7 | 105 | 60 | 165 45 | 120 495
1098 15 | 685 160 100 | 1451 o5

What was the approximate percentage increase in the sales of 55AH batteries in 1998
compared to that in 19927 '

(A)  28% ' (B) 31%

{C) 33% Dy  34%

The total sales of all the seven years is the maximum for which battery?

(A)  4AH {B) 7AH

(€) B82AH (D) 35AH

What is the difference in the number of 35AH batteries sold in 1993 and 19977
(A} 24000 (B) 28000

(C) 35000 | (D) 39000

The percentage of 4AH batteries sold to the total number of batteries sold was maximum in
the year?

(A) 1094 , (B 1995

(C) 1996 . ' (D) 1997

In case of which battery there was a continuous decrease in sales from 1992 to 19977
(A) 4AH (B) 7AH

(C) 32AH (D} 35AH
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Instruction for Question No. 11 to 15 : Study the following Pie-charts and answer the
following questions.

The following pie-charts show the distribution of students of graduate and post-graduate
levels in seven different institutes in a town.

Distribution of students at graduate and post-graduate levels in seven institutes:

Total Nember of Students of
Graduate Level = 27300

Total Mumber of Students of
Post-Graduaie Level = 24700

What is the total number of graduate and post-graduate level students is institute R?
(A) 8320 (By 7916
(C) 9118 (D) 8099

What is the ratio between the number of students studying at post-graduate and graduate
levels respectively from institute S?

(A} 14:18 (By 19:21

e i (D) 19:14

How many students of institutes of M and S are studying at graduate level?
(Ay 7516 (B) 8463

€y 927 (D) 9404

What is the ratio between the number of students studying at post-graduate level from
institutes S and the number of students studying at graduate levet from institute Q7

(A) 13:19 (B 21:13
(C) 13:8 _ (D) 19:13
Total number of students studying at post-graduate lavel from institutes N and P is
(Ay 5601 (B) 5944
{C) 6669 (0) 8372
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Each question is compuisory & carry one mark.
In the following the questions choose the word which best expresses the meanmg of the

given word. (Que. No. 1 to 5)
PRESTIGE

{A)  Influence {B) Quality
{C) Name (D) Weaith
- UNITE
{A)  Unfold {B) Unchain
{C}  Combine (D} Unhinge
REFECTCRY
(A}  Restaurant (B) Parlour
(C)  Living Room (D} Dining Room
~ TURNUP
(A}  Landup (B) Showup
(C) Cropup (D} Comeup
SYNOPSIS :
(A)  Index (BY Mixture
(C) Summary (D} Puzzles

In the following gquestions choose the word which is the exact OPPOSITE of the given words.

{Que. No. 610 10)

Instruction for Question No. 11 to 15:

COMIC
(A)  Emotional (B) Tragic
(C) Fearful (D) Painful
ARROGANT
(A)  Humble (B) Cowardly
{Cy  Egotistic (D) Gentlemanly

- AUTONOMY

(A} Slavery (B)  Subordination
(C) Dependence (D} Submissiveness
BALANCE
(A)  Disbalance {B) Misbalance
(C) Debalance (D} Imbalance
LIABILITY '
{A)  Property (BY Assets
(C)  Debt (D) Treasure

Read paragraph carefully and answer the following question

At this stage of civilisation, when many nations are brought in to close and vital contact for
good and evil, it is essential, as never before, that their gross ignorance of one another
should be diminished, that they shouid begin to understand a little of one another's historical
experience and resulting mentality. It is the fault of the English to expect the people of other
countries to react as they do, to political and international situations. Our genuine goodwill
and good intentions are often brought to nothing, because we expect other people to be like
us. This would be corrected if we knew the history, not necessanly in detail but in broad
outlines, of the social and political conditions which have given o each nation its present
character.

According to the author of 'Mentality' of a nation is mainly product of its
(A)  History {B) international position

(C)  Politics

(D)

present character

[15]
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{12)  The need for a greater understanding between nations

(13)
(14)

(15)

is no longer there
will always be there

cultural heritage
socio-political conditions

have a betler understanding of other nations
have vital contacts with other nations

Themselves
each others

{A)  was always there o (B)
(C) s more today than ever before {D)
The character of a nation is the result of its
(A)  Mentality ' (B)
{C)  gross ignorance ' (D)
According to the author his countrymen should
(A} read the story of other nations {B)
(C)  notreact to other actions (D)
Englishmen like others to react to political situations like
(A) Us (B)
"(Cy  Others (D)
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